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Instructions for the candidates :

' . Candidate t /
_ : must enter his / her
Rl yfeT@T FFiE (10 w5 F7) Question Booklet Serial

T frdd | =i
: (10 Digits) in the OMR Answer
: _ Sheet.
- q?w ' JHGHq GFF} R A ) Candidates are required to give their
- 3w - ' in thei
. _ answers in their own words as far
s .  as practicable. N
3. A AR il Wﬁ'ﬁé’(f 3 a‘uﬁa; 3. Figures in the right hand margin

fafee #va &1 : indicate full marks.

4. e F: 5277?35‘3" g & w4 15 minutes of extra time have been
qleferal @1 15 fae @1 sifak® a7 allotted for the candidates to read

fear mar &1 the questions carefully.
S. -- Z?B"W E’ﬁ:ﬁﬁ‘w_f gl @vel 7 §—@US- 5. This question booklet is divided into
oq @Ug-a/ | two sections — Section-A and
Section-B. '
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6. @ve-a & 70 aqgive o & fd 6

& f=at 357wt &1 Imv 37 Afvard
&1 35T @ fE FT IR AW
T 35 ¥ & qodin &l e &
T 1 3% Fife &1 77 37 37 @
fore 39c7 #Xd T OMR FTR-TAF
5 few o @ ey w1 A / ;A
qiT 97 @ ge Fi/ fFE 9 g
F @Wgeaw / aer e [/ @e /
ArEgT HfE FT OMR IAY UAF H
It FTET WAT & T gnEr
qRRoTR ST &I

=g - & § 207G IT 9T E |
weF & P 2 o Fwiia 8, i
g feet 10 swaAl @1 W@
sfard & 1 9 Afifie & @ A4
6 Fif s g fd ma & gdE @
fro 5 siw Fifta & Frd @ el
3 Wt @7 I 37 AErd 21

st yBR & FoIRiH ITHEU H 8.

sghr Ui afer &

In Section-A, there

70 objective type questions, :;
which any 35 questions are t, ,
answered. If more than 35 questiong
are answered, then only first 35 wil
be evaluated. Each question carrigg
1 mark. Darken the circle with bly,
/ black ball pen against the correy
option on OMR Answer Shee
provided to you. Do not use
whitener / liquid / blade / nail
etc. on OMR Answer Sheet,
otherwise the result will be

invalid.

In Section - B, there are 20 short

answer type questions. Each '
carrying 2 marks, out of which any
10 questions are to be answered.
Apart from this, there are 6 long
answer type questions, each
carrying 5 marks. Out of which any
3 questions are to be answered.

Use of any electronic appliances is
strictly prohibited.
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WUE - 3 / SECTION - A

mm o 1 W¥T / Objcctive Type Questions
ng#q:::*mm*mwf&mmWﬁ frrd @ T T &1
il ’%’WﬁOMRvﬁawﬁz@W#:ﬁaﬁaswﬁmmaﬁ

35 x1=35

Question Nos. ]
to 70 have four options, out of which only one is correct. You have to

mark your 3 3
y seclected option, on the OMR-Sheet. Answer any 35 questions.

1. 3G Wl R o WY §

35x1=35

. (A) H,‘,_O - (B) O

(C)  NaCl (D) CeHg

The substance which exhibits paramagnetism is-

(A) . H,0 | (B) O,

(©) NaCl on\ e H,

o fiyerger A I ST ST FRA 3 |

@A) et sl g (B) EEEA SEMES afufsman g1
€  wea-sh e & D) Q@S T

Methylamine can be preparéd by |

(B) Hofmann bromamide reaction

(A) Wurtz reaction
(C) Friedel-Crafts reaction (D)  None of these

5. iR O
(A)  CuFeS (8) CuFeS,
(D)  CuyFeS,

(C) Cu,S

| _l—l 18] A {A]-9005-Amn page 3 of 28
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The formula of copper pyrite is

(A) CuFeS " | (B) CuFeS,

© Cws  + (D) CugFeS

001 M T foere #t qertl F 001 M- MgCl, FeT $mﬁ HIT §
(A)  TEH | @ et T

© e o Sl

In comparison to 0-01 ‘M solution of glucose, the depression in freezing point o
0-01 M MgCl, solution is

(A) same : & | (B)  about twice -

(C)  about three times - (D) - aboutisix t_imcs
weffex 3ma S A I WA € 2

(A)  CH3NO, o | (B) CHZCOOH .-
©) CHECHNH, ()  H,NCH,COOH
Which one is capable of l'c_irming zwilterion ?
(A)  CHgNOz = . B (B) CH;COOH
(©) CHSCH.‘,,NHg . (D) HyNCH,COOH
swre fafir 3 ] & faTes % e A s A

(a) Al

B C
- D co
The process of smcltmg.invnlyes reduction of metal oxide with I.
() Al B ' ¢
EIB JA |[A]~9005-A[31} Page 4 of 28 . -
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U.E?I"Taﬁl%;ﬁ 3y B s i
(A) W= KA (B0
_ _ (B) W= KalBP -

C) = K[APB)! o o

The rate of zero order reaction A+ B——Cis

®)  Rate= kaPipP B Rate= K(4)'B’

(©)°  Rate = k|A[B}} (D) none of these

hiceram wnle & Yo aeE | W B ¥

(A HCHO | (B) HCOOH.

(C) CH,COCH A - (D) .CHgGHO

Dry distillation of callcium fo.rmate gives 7

{A) - HCHO _ \ (B) HCOOH'

(©) CH,COOH | (D) - CHyCHO
., A B3R ¢ @l & A HIHAT R HF S + 0-68 V, -2:50 V 3K - 0-50 V

| 3| g araeE i @A § |

A A>B>C B A>C>B

C C>B>A (D) B>C>4 |

The stémdard reduction poteml:ial values of elements A, B and G ar-e + 0-68 V,

_2.50 V'and _0-50 V respectively. The order of their reducing power is

@A) A>B>C el " Aeians
we gy CRDEA By BEtes N
- Page 5 of 28
\ .
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0. SN T8 E ?

{A)

(€)

(A)

(13) ferfors

FIAIRIEE

Sirag | qy  F U HE el
What is an cnzymc ¢

Carbohydrate (B) Lipid i

Protcin (D) None of these

(C)

11, GeETRE syt 7 wigr A S €

(Al

{€)

- fafy ga B faea-fawsed fam g
THT ZRT o T @ ®iE A

Sulphide ores are concentrated by

(Al
€

Froth floatation process (B)- Electrolysis

Roasting - - (D) none of these

Ifz. Wwﬁrwm%

(A)

(©)

-(A)
()

feera = (3) ¥EEY A
e o (D) o H
. Tyndall effect is observed in
Solutj
olution (B)  Precipitate
Sol :
(D)~ Vapours

13. Qﬁﬁh@g@'m%%ﬁamw%

o Sy B o e
(0 TR afafi
[ 118 ] A [{A)-9005-Ag - O ¥ =

Page 6 of 28
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cen
(A alky)
(C) ol on tlal is calleq
cm . B ,
14 & Mensen 8 reaction B} Kolbe'n reaction
' I[H:’O)., CL, e 5 . B} Nonc of thesc
. 5
¢ i e &
(A) + ]
(C) +5 (B) +3
(D) +6

Ih.(! oXid 'l H, O\ C ¥ is
ation ex |ICr
number of Cr in the complex | ( 29, ‘31 1

(A) + 1
©) B) +3
i D) +6
15. SRR 359 #1 32T &
c TE ) @
An example of amerphous solid is
(A) Diamond (B) Graphite
{D) Rubber

(C) Salt

aﬁqﬁ*—q] H
e COH B eohols ﬂl:‘uhnlu. : %
(B) CH;CH,OH

[A) ; CH2 = Cl{z
(C)  CH3CH,OCH;CHj (D) I W.HR T
KOH
Alcoholic

B)  CH,CH,OH

The product of the reaction C,HgBr

CH CHQOCH2CH3 {D} .none of these
3

(€.

[118] A | (A)-9005-Adl | page 7 of 28
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17, Retmies feen @2 § fa@ sEvaE 00F e € ?
(B) faeer AFES

) foeet TR
) ufsam FRES D) 3iiferh ST

Photographic filin plate has an essential ingredient of

(A)  silver nitrate (B)  silver bromide -

(C}]  sodium chlonde (D}  oleic acid

R e = il & forg. & o A Rien i ETE WA Bich & 2

18.
a T3 Sl
© g | s (D) TR
Tke unit of rate and rate con#tgnt is same for the réaction of which order ?
(4 Zero @) First |
05 ﬁwﬁﬁaﬁﬂﬁs’}aw-f—r airﬁ:ﬁimﬁm% ?
#8) HCHO | '. [E} CH, - O-CH,
(€} CgH,CHO = i (D) CHac‘HOI '
Which of
the following undergocs aldol condensation rcachon ?
(ay HCHO g = '
oo 8 CH,-0-cH
CeH.CHO '
6
) 5 (D) CH,CHO
RN s o SHfyspar
) d atfifrar o AT &
) NH,C1
C =
M ) Ny+HCl
(A :
Page 8 of 2
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) N., 1+ HCH
() Ny +NRH,C) 2"

5 ﬁqmmmawﬁm?%?

(B) N, NCi,

() e 5

= : (D) HHSAN

Which is not affected by lcmpcratl:nc ?
(A) Normality ' (B} Molality

(<) Molarity (D}  Formality

-~ + 5 >
22. affamshar CH3CNL,.E{;TW3

(A)  CH;COOH " _+B) CHyCH,NHOH

(C)  CH3;CONH,. (D)  CHaCHO

+

: ' H,0 ’
The product of the reaction CH,CN—2——is

(A) CH,COOH (B) CHaCH,NHOH

(C)  CHZCONH, (D)  CH3CHO

%mﬁmﬁ-mwmﬁmmﬁm%?

23.
=P B} CI-Cl
) F-) :
g 1= (D) Br-br
( -
which of the following bonds is the strongest ?
F () Cl-Cl
F -
i : (19) Br -~ Br

5 = age 9 ol 28
F—_IB' ] A | {.A]-QOOS—AHM
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29.  Fw=bmm 5 agenm @

(A) el aps y M
(C)  FerEERT (D) ZIRIHITer
Vitamin 4 is known as

(A)  Ascorbic acid (B) Retinol
(C)  Calcifcrol (D)  Tocopherol

25. @V WA o § urar SHaren g 8

G B

© P @ e
The metal always found in free state is

A)  Gold ' (B Silver
¥9 Lot +510)  Sodium

26. - ﬁ%mﬁnmﬁ_@ﬂaﬁmmﬁwaﬂw%

() ST HUE T - B) R H 3R tE
() (A) 3R (B) T D) T F wE @R
The best way to protect iron from rustinglis
& * = -
(C} making iron cathode | (B)  putting it in saline water
1 l both (4} and (B) D) none of thege
2. W T Em g ' '
A)  C,H.0cH |
) Hg0
2850C, H '
M | i
A S
- -

e : P&gEIOOfZB.
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Which jg cthoxy cthane ?
(A)

CZH.sOCHa
_ (B) CH,OCH
€@ cHgoc ' T
sOC,H,
28 = (D}  None of these
. FEay et Arfifory 2 '
ik S @) Era
(C) wEheE
R ey | oy fefm s,

Which of the following has magnesium ?

(A) Chlorophyll (B) Haemocyanin

(C)  Carbonic anhydrase (D}

20.  rErIRE sfeieer § e oot 2 S 2

Vitamin B,

W Y - A
© % R\’ (D) ¥
How many layers are involved in chemical adsorption ?
(A) One g B . (B Two
{C) Many (D) Zero

s0. ez, Revier 2 P e e v ST e & 2
(a) s | ® e
© e (D) TSI

" Bakelite is obtained from phenol by reacting it with

Acetal

(A) Acetaldehyde (B) ce
™ : " m
(C) ~ Formaldehyde (D)  Chlorobenzene

page 11 of 28
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. z
3. IuFgEA I K, | Ni(CN), ) H i .

‘El + ]

o) -1 - |
dation state of nickel is

(A) 0
(C) +2

- . the oxi
In co-ordination compound Kl Ni{CNJ, |
| +1

o)y -1

(A) O
€ +2

32, FF s sg ¢ ?
(B) (CeHshNH

(A)  C HgNH,

(C)  CH,NH, (D)  (CH;)NH
Which is the most basic ?.

(A)  C HNH, (B) 1 (CcHshNH

(C)  CHsNH, ‘D) (CHg),NH

33.  HHREEEE CeREE HOUE 9 &

(A)  CpHaq, Ol ~ (B)  C.Ha,,,OH
(C) CaHaeOH o e | ®IE i
The general formula of monohydt';c alcohol is '
B SablgaOf ¢ (B)  C,Hg,,,OH
© | CnHz,0H (0)  None of these

34, wﬁnfaﬁaaﬁi‘rhwm%?

(4) - TEE B frenas
€ F s D) ¥ X 35
[ 118 ) A [(A)-9005-Ap) Page 12 of 28
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Milk is g Cxample of

[A] Cmulsian
(C) sol B)  suspension
- - (D) nonc of th
38S. cae
(A) Sn
B b
C) s
(D) Ag
Galena is an ore of
(A) Sn B) . PI:;
[CJ. Si D) Ag
36. T YRR FE oo Fwaw &
(A} T=IRT (B) DNA
(C) fereTfir (D)~ FHR
The human body does not produce
(A) Enzyme L (B} DNA
(C) Vitamin (D) Hormones
37. 2n(s) | Zn®*(ag) || Cu®'(aq)| Cufs) €
(a) A W () S el
(C) Hoter ad (D) T | IS T

Zn(s) | Zn**(ag) [| Cu?*(aq)| Cuis)is

(B) .~ Daniel cell
(A) Weston cell

c) Calomel cell (D) None of these
(

[ 118 | A [A}-QUOS—A:31||| Page 13 of 28
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38,

39.

40.

41,

CH3CN & argasyor 31w alen &

A cH, ({E]
(D)

Ct f1C()QH

COOH

CHLCN on reduction gives

OH
(A) CH, (3) CH;CO

e OH
(©) CgHsNHQ (D) CZH_._,CO

HIE ua 3 &

(A)  RHCIO, (B)  HCIO,
(C)  HCIO, (D)  HCIO

The strongest acid is

(A)  HCIO, (B) HCIO;

(C) HCIO, : (D), HEIO

234.2 UM O % e § 34-2 AEEAIE | 961 &1 A6 QIS0T 99T g0 2

(&) 01 wad By 20

© 30 (D)  4C

234-2 gm of sugar syrup contains 34-2 gm -sugar. Whai is the molarity of the
solution ? :

A o1 B 20

€ 30 (D) 4-0

Frer sifidfiran #1 wy@ wfawer Fefeiaa § @ & o

CHCL# 0, B0 . + HC1?
A)  co, ' (B) cl,
(C) cocl, (D) 9 ¥ ®i% 7@

[ 118 ] A [(A)-9005-Ag),

Page 14 of 28
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42.

43.

. 44,

Which
following iy the  mnin  product of  the rrartinn

c M
HCly +0, MEm _,  lCl?

A c
Q2 Ly ciy’
() cocy, (D) Nonc af these
IWPAC vorrelt & weltehs = =m &
A) OATE . (B) TS
(€) WA D) TUER
- The name of acetone in [UPAC system is
(A) Methanal (B) Ethanal
(C) Propanone _ (D) Ethanone
fr=ifera sfufirar 1 wi@ viawa §
@’ NO, Sn+ HCl
(A CeHsOH el

(C)  CeHsCH, (D) CeHe

The main product of the following reaction is

SarS
C¢HsNH,

(A)  CgHsOH (B}
(D).  CeHe

(B) TaeH
o wHIE

(€)

- 15 of 28
(118 ]A | (A)-9005-ABY | Page
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Which of the follow
(A)

Mg s artificig| Sweetening agent ?
Saccharin (B3) Aspartanic
(€} Sodium cyclomute (D)  All of these

1 T P gt g 4
(A) T'ﬁalh (B) AGgATH-6
 =s (D) &A=
Which one of the following is natural polymer ?
Nylon-6
(A)  Protcin (B) ylo
(C)  Buna-$ (D)  Terylene

46. %Wrifﬂrmﬁ%?nuwaa‘mgmaﬁ@%
(A)  [PUYNH,),]CI, (B)  [PtNH)g]CL,
(C)  [PUNH,),Cly ¢ D) PHNH O
The correct formula of hexamine platinum (IV) chloride is
(&)  [PUNH,)ICl, | @ [P;(Nr-;alslc:lg
(C)  [Pt(NH,)L,Cl, | (D) [PtNH,)4]Cl,
47.  Frefofaa 4 @ 99 sfreeta 3w w1 sEor 0
(A)  NaCl : (B) znS
'[Cj- ®g o D) siC

id ?
Which one of the following is an example of an amorphous solid

(A)  NaCl | (B)  2nS
. , | SiC
{C) Glass (D) i
[ 118 | A {{A)-9005-Ap1) Page 16 of 28
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48,

49,

50.

51.

ﬁqﬁﬁﬁqmwﬂmﬂ# ?
A vy
@) Srvadarg

LU I (e

D) W g

(A) Viscosit
y
(B) Surface \cnsion

(C) Refractive index Dy o
smotic precssure

LHT AR+ oy
Al ®
a:rqam + forg frert s =) 1aTaFal €t 2
(A)  3-0x105¢ '
(B) 2895x105C
(€ 289-sx105¢ (D) 2895 x 105¢C
How much charge is required for reduction of 1 mole of AR* 1o Al 2

, SG - '
4) 30x10°Cc .' (B) 28:95x105¢C

(C) 2895 x 105C o (D)~ 2895 x 105C

aqﬁﬁnai aﬂﬂpﬂﬂﬁﬁﬁﬁﬂﬁﬁﬁﬁ%ﬁﬁ?ﬁm LT AT Tl Bt &
@) et gt @ R =i |
© whran wﬁ | L D) e s« R e

The minimum amount of energy required to convert.reactant melecules into

products is
(A) Kinetic energy (B) - Potential energy
(D)  Kinetic energy * Potential energy

(€) Activation cnerg}’
v Wﬁwmaﬂﬁﬁﬁ%imimn i
- | . _ (B) 40-60

(C) 60-80

7 of 28
[118] A [A)-QOOSTA(snl | lPégcl 0
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In physical adsorption the approximate heat encrgy cvolved in kJ/mol js
11 Ll

. (B)  40-60

(C) 60-80 ' (D)  40-400

52.  sy2 frafafy 7 faior g &
(A} HEl YAEA HI ; 7 (B)  WeRHUT ST @

(C) P TETH . (D)  ET BTG
Sy2 mechanism proceeds via formation of
(A) Carboca‘ﬁon : - . B (B) Transition state
{C)  Free radical E oL iD} Carbanion

53. ﬁwﬁ@mﬁwzﬂﬁﬁrﬁaﬁﬁ%ﬁu% ?
{&1 Chey, = e {13; Cé“s _o___cgg‘;’
€ ccy . - - =7 (D) CH,CH,OH "

Which one of the follbw.ing compounds is soluble in water ?

(A} CHCly " B C,H, ~0-CoHg

(C): cel, ' (D) CH,3CH,0H

54. ﬁﬁiﬁww(—c o)ﬁa“aw‘ﬁhq?ﬁ:r-mwwa‘tm% ?

4  sp - (B)  sp?

© sp § D)  spid

The hybridisation o.f cé:bon in carlé-onyi group ( —{l: =Q)is

A)  sp - (B) sp?

(C) sp? D) sp3d
[118]A (A) —9005-&:31}[ Page 18 of 28
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55.

56.

T4

58.

(B) Acctone

(&)
B i
(© . IR sewpe
(D) T &3
- The product of the reaction CH:N=NC Ho
| pigN = C——— T 1.
(A) Aniline ' (B)
_ Phenol
(C)  Methyl alcohol (D} noneof th
l } € 0] thesc
A#falshal OHCH,, ~ (CHOHJ, -cHO—Hk8 , d 3w ¥
(A) RN ; B  n¥FA
FH § HE T

(C) TofliFE 3 D)

HLA .
.oue , product 1s

In reaction OHCH, - (CHOH), - CHO——>.......

(B) n-hexane

(A)  Fructose :
(C)  Gluconic acid (D) None of these
g & @ frad pr-dr e € ?
(A)  NOj | (B) CO3
7=
e S (D) SO3

2

© BO}
page 19 of 28.
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Which of the following has pr-di bond ?
(A)  NO; (B) €Oy
) BOZ (D) SO3
$9. o 16 %F ac TeeR &
A)  EERE | () R |
(C) E&Tu o - (D) T@H i

The clements of group 16 arc known as
(A} Halogens a8 (B Chalcogens

(C) Tral;lsition clements ' (D) Noble gases

'60.  WH WHA SV T FeaaH iRl srare SO ST el ¥

(A) Ni ] _ (B Cr

(Q Fe | \ %28 @ Mn

The clement showing highest oxidation state among first transition series is
(A) - Ni | - (B) Cr = |

(C) Fe | (D) Mn

61. ﬁﬂ%ﬁaﬁﬁﬁfﬂﬂﬁ_ﬂqﬁmmﬁﬁm%m%?

(A) ﬁ"’)’iﬁg ._ ' (B) nm
©  § g D) g
In which of the following elements 4f energy level is gradually filled »
(A)  Lanthanides ' (B!. Aclinides
) (C)  Transition metals - {D}  Coinage metals

| 118 ] A [{A)-9005-A@y)| Page 20 of 28
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)}
(A) 3 . .
(C) S "
booq
The co-ordingy;
4]
J nnumbergfcr D) ¢
(A 3 slerie
zoqjalis
(C) 5 ® .

(C) HNTHS ,
D) T I B4

state is reaction at equilibrium

(A) positive
. !B] Zerop

{C) ncgative
none of these

b, Hﬁ?ﬁa"m2©+zma—-—>‘—. zmaxaﬁ‘ﬁ?r%

A feferr sfsfrar B e s

() ﬂéﬁfﬁ?ﬁmaﬁqm () @iew el

X
Reaction 2@ + 2Na ether “+ 2NaX is known as

tz reaction
(A}  Fitiig reaction Wurtz
(D) Kolbec's reaction

e ——

(C)  Wuriz Fittig reaction

s

Page 21 of 28
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ﬁﬁwaﬁi#%mnﬂlﬁﬁmmaﬁiﬁm%ﬁmfﬁftn~MHhmr#:mutﬁmﬁmiﬁm

65.
A€ ?
) T e B) @t R
(©) TR srfafma Dy it statRa
By which of the following reactions Phenol is converted into salicyl aldehyde ?
(A)  Etard reaction | (B) Kolbe's reactiorn
(C)  Rcimer-Tiemann reaction {D}  Cannizzaro's reaction
66. WS THA ! ggam fre F FRI W AT E 2
A) - HCl (B)  CHCl, +KOH
" (©)  NaOH (D), |\ CHCl,
Primary amine is detected by
(A)  HCl {B) CHCl, +KOH
(C) NaOH D) CHCl,
67. Uwhilaes &
A R ' (B) - ToEH
© WeH D) Ui e
Ascorbic acid is a
(A)  Vitamin o (B)  Enzyme
(€ Protein - D)  Amino acid
[ 118 ] A [(A)-9005-Agy Page 22 of 28
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‘_I\- . [ [r“ a‘ qigi " ‘
{A) Wiqlﬁ’ﬂ | "
n ?[37
. ” )« wr
[ QEIJHEW 1[}:. T 3% .
A substan “ |
C¢ which lowers the body lempergy
l } A " )}:rchc . khw ’

. (D) none of these
69. N H V& IRE momm gm :
wﬁmﬂwﬁmm%mmmﬁ
R ? |
W i i

(C) F-centre S AD) TR ¥ T T

When an clectron eccupies \he empty space of negatively charged ions, then the
delect in crystal is

(A) Schottky-defect (B}  Frenkel defect

(C) F-centre (D)  None of these

70.  Ca(NO3) ¥ &< & Ui I &

Ay 1 (B) 2
c 3 o 4
The van't Hoff factor of Ca(NO3); 18
A 1 B 2
(

(o) 4

c)y 3 |
| | ¢ 23 of 28
[ 1181 A ! (A)-9005-AsH page 23 .f'

by:BSEBResult.In



wog - W / SECTION - B

¥ IAT WIT / Short Answer Typo Questions

mmxﬁzongaaﬂ##r&a‘?mnﬁ%m?}m%ﬁmaw
Fraffea & | 10 X 2 = 20

Question Nos.- I to 20 are S.ert Answer fype Answer any 10 que.stmns Each qucsiwn
10x2=20

currics 2 marks : ,
g @t Afreifad 55 at?r' aFT ?ﬂaﬁr ?
Glass is assumed to be'a supcrcooled liquid. Why ?

mﬁﬂr%aanﬂ&amaﬁmmmnﬁamnﬁﬁmmm% ?

2

2

_F

—

w -

What hﬂPpens when n—hutyl chloride is treated With alcoholic KOH ?

3. émﬁ#qﬁanéﬁﬁ’rﬂaﬁﬂw% 7:

Who are’ the members of halogen farmly ?

.aﬂmma%‘:m(m 40)3#%&&3%20%::1 ﬁWWTﬁTi
_ﬁauaafm?ﬁwa‘ﬁaﬁhm ' ' ' 2

g gram of caustic. acda ( molar mass = 40 ) is dlssolvcd in water and solution i is

made to.200 ¢cm 3 Ca.lcuIatc the mo!anty of salutmn

5 ) éz'!rﬂ I g@n WS T %‘ ?
What are the mam conshtucnts of Dettol ?

e @ o e & sl 9 e e g e 8 o

Which type of ores are concentrated by froth floation ﬁroccss ? Give examples.

i 118 ] A [(A)-9005-Apy] Page 24 of 28
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SR BRI %l HR Bl "
Mcthyla )
yiamine is more basic 1p
an aniline Give rey 2
- 0n
9 Hh AT =1 | qgiaé:{?iiﬁ 3"13'\':“351“‘ TN Ie
/ . | ‘- t: :.i% ?

Transition clemenys exhibit variable oxidai:
. A€ oxwdaticn siafe. Why ?

10. Waﬁ%aﬁ%manh.m

g fRemet)

A L. R
0-080S 972 * %1 0 st oy T
" L LS S

2

The ratc constant for first order reaction is 070005 rﬁ.in"
life.

. Caiculate its half

11, TEEME % @ AUIS H HFEH S FAMEY 7 )
What arc the expected products of hydrelysis of lactose ?
1y fre e el e § 2 ST FRAAAL: 2

Define double salts with suitable cxamples.

A . s 2
13,  foeARs srrer o GRS R 7 AT H
Differentiate betwcen methanoic acid and cthanoic acid.
2

T8 TA Lot
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16.

17,

18.

19,

20.

s S A ¥ g1 WHE R 2
what do you understard by sccondary cell ? \
ﬁ'ﬂf’ﬁﬁé‘ﬁﬁﬁ’fﬂﬁ?ﬁﬂ?ﬁﬁiﬁfﬂmfm‘:

(i) V{Z=23) i) Zn(Z=30)

write cleetronic configuration of the following clements

V(Z2=23) i) 2Zn(Z%=30)
Rpiel sroeieel A w94l I 21 3 7

Phenol is more ac.i'c_liu than aleohol. Why ?
fefoae Bee T = &1 Fef A By oo W, 4R fete w

3HTE G 1 fHA 351 pm € 2

Lithium forms BCC crystal. Caiculatc the-atomic radius of Lithium if the length

of the side of a unit el of Lithiymis@57 pm.
PH,® NH, &I - Hi1 &8l € | i ?
Bond angle in NHj is greater than in PH,. Why ?

frfefaa se-aes sifutmar 1 ol &0

s

i C'jjjgti_?.::‘.,_?:\‘_.fiz,:v“(?f‘:; '

i) (Cylls)3N +HCl—- |

Complele the follt..:wmg acid-base reactions :
ij  CHZCH,CHRNH; 4 HCl——s

i) * (CoHg)sN +HCl——s

[ 1-1=8__] A I(ﬁ]-gﬂos-Am Page 26 of 28
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G R g'waw*mstw
e il 2 are Long Ansier Type Quest; 3 xt ;h:
question carries 5 marks ONS- Answer on,, 3 uestions, , I:1
2 # 'mmﬁmﬁﬁvﬂﬁmﬁ#&: e
D ST st 3 e e e = st o g

g} Write the principle of manufacture of syl

b) Write the reactions of concentrated sulp

2. a) T B R sl & forg v R o o 3,

b) TR &R fawo Fwm st k0 , _ A4
a) . Derive an expression for the rate constant of a first order reaction.
b) What is the differcnce between osmosis.and diffusion ?

23. &) R — _ |
i) W@Rﬁmﬁﬁwﬁamﬁmmumg >

i) m%mﬁﬁwmﬁmwtmm% 7 I
Rt Arogodotodte AT aet ARl s fefar s 1141
j oA 5 |

i) N, NS AT

i) 2-GHIRERE

e _d with sodium in presence of drye

— »
' thyl bromide is trea .
vl rolysed in presence of acid ?

b)

ther ?

iij Ethyl acetate is hyd

page 27 of 28
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jures of compoundn whose TUPAC numcs are as follows ;

b) Wirite the struc
i)  2-Butanol
ji) N, N-dimethyl methanamine
jii} 2-Aminotaluenc.
24" a)  HF.HCI HBr & 11 7 S0 T IR HE ¢ 7 3
v Eefaran sffsas Bt #if 1% + 1%
i) CaHy +0p—
T
i AL £30y =ty | '
al Among HF,'HC]; HBr and HI, which is the strongeat reducing agent ?
b) Complete lhe following reactions :
i] s C?IL‘ GO-‘, ‘—'" » ., .
i) 4A1430, 85 ‘ i

25.  a) ﬁqu% ? 31 3=rEToy gy

b) +EAYER AU FAEVEF CHAL W ¥ AR § 72 TAw 1 I AT
‘ ' ' e 2+3
a) Wlmt are .xmﬁua] sm.;.tcmng agents ? {_me lwa cxamples.
bj What arc essential and non-essential amino ac:ds ? (:we examples of
each type.

26, W:ﬂmﬁmwmﬁ% ?Wwwgﬁ%ﬁm%iﬁam
wifE i . | i B
What is clevation of boﬂmg point ? Find the rclauon betwccn cievauon of bmhng

: pomt and molar mass of solute. .
='=u@====
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